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SSUUGCET 

FACULTY OF MANAGEMENT STUDIES, FACULTY OF ARTS, 

COMMUNICATION AND INDIC STUDIES, FACULTY OF HEALTH AND 

WELLNESS (YOGA DEPARTMENT), FACULTY OF ARCHITECTURE (B. 

INTERIOR DESIGN) 

SAMPLE QUESTIONS 

TEST OF ENGLISH 

Read each sentence to find out whether there is any error in it. The error, if any, will be in 

one part of the sentence. The number of the part is the answer. 

1. (a) Firstly you should / (b) think over the meaning / (c) of the words / (d) and then use 

them. 

In each of the following questions you are given one or more blanks. Each question is 

followed by four choices. In case there is more than one blank, each answer choice has more 

than one filter which should fit the blanks in their respective order. 

2. Travel will ______ you with new customs. 

(a) associate       

(b) comply       

(c) acquaint       

(d) adorn 

Pick out the nearest correct meaning or synonym of the words given below: 

3. PERSUADE   

(a) assure  

(b) opinionate  

(c) convince  

(d) cheat 

Choose the most suitable antonym of the given word. 

4. XTENSION 

(a) diminution  

(b) condensation  

(c) deletion  

(d) subtraction  
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Given below is a passage in which missing words are represented by numbered blanks. 

Below the passage, against each number are suggested four choices, only one of which fits 

the blank appropriately. Find out the appropriate choice in each case. 

For one hundred years the 5 princes and the 6 people had been suffering the effects of the 

foreign rule. Their 7 came to an end when on 10 May, 1857, the Indian army at Meerut 8. 

The three infantry regiments at that 9 shot their officers, broke open the jail, and after 

releasing the 10 set out with their arms along the road to Delhi.  

5.  

(a) comfortable   

(b) dispossessed  

(c) royal  

(d) deadly 

TEST OF REASONING 

1. Look at this series: J14, L16, __, P20, R22, . . . What number should fill the blank? 

a. S24 

b. N18 

c. M18 

d. T24 

Verbal analogies - Of the four choices, you must identify the one that would best complete 

the second set so that it expresses the same relationship as the first set.  

2. Pride is to lion as school is to 

a. teacher. 

b. student. 

c. self-respect. 

d. fish. 

Choose the pair that best represents a similar relationship to the one expressed in the original 

pair of words. 

3. SOUND : CACOPHONY 

a. taste : style 

b. touch : massage 

c. smell : stench 

d. sight : panorama 

4. Here are some words translated from an artificial language. 
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i. tamceno means sky blue 

ii. cenorax means blue cheese 

iii. aplmitl means star bright 

Which word could mean “bright sky”? 

a. cenotam 

b. mitltam 

c. raxmitl 

d. aplceno 

The following problems in this set present you with three true statements: Fact 1, Fact 2, and 

Fact 3. Then, you are given three more statements (labeled I, II, and III), and you must 

determine which of these, if any, is also a fact.  

5. Fact 1: Eyeglass frames cost between $35 and $350. 

Fact 2: Some eyeglass frames are made of titanium. 

Fact 3: Some eyeglass frames are made of plastic. 

If the first three statements are facts, which of the following statements must also be a fact? 

I. Titanium eyeglass frames cost more than plastic frames. 

II. Expensive eyeglass frames last longer than cheap frames. 

III. Only a few eyeglass frames cost less than $35. 

a. II only 

b. I and II only 

c. II and III only 

d. None of the statements is a known fact. 

TEST OF NUMERICAL APTITUDE 

1. A person covered some distance in 24 hours. He covered half the distance by rail @ 75 

km per hour and the rest by car @ 45 km/hr. The total distance covered by him was 

a. 900 km 

b. 1350 km 

c. 675 km 

d. 2700 km 

2. A sum of Rs. 2135 is to be divided among A, B and C in such a way that 3 times A’s 

share, 4 times B’s share and 7 times C’s share are all equal. The share of C is  

a. Rs. 420 
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b. Rs. 735 

c. Rs . 980 

d. Rs. 1200 

3. A shopkeeper sells his articles at cost price but uses 900 gm weight for 1200 gm weight. 

His profit percentage is 

a. 33.33% 

b. 25% 

c. 16.66% 

d. 20% 

4. A car runs at the speed of 60 kms per hour when not serviced and runs at 72 kms/hr, when 

serviced. After servicing the car covers a certain distance in 12 hours. How much time 

will the car take to cover the same distance when not serviced? 

a. 16.4 hours 

b. 13 hours 

c. 16 hours 

d. 14.4 hours 

5. What would be compound interest obtained on an amount of Rs. 4000 at the rate of 5% 

per Year after 3 year. 

a. 630.5 

b. 612 

c. 578 

d. 525.5 

TEST OF GENERAL AWARENESS 

1. Who was the famous French scientist who discovered the principles of vaccination? 

a. Galileo Galilei 

b. Charles Darwin 

c. Louis Pasteur 

d. Michael Faraday 

2. Pradhan Mantri Jan Dhan Yojana (PMJDY), one of the biggest financial inclusion 

initiatives in the world, was announced by Prime Minister, Shri Narendra Modi on 

a. 15th August 2014 

b. 26 January 2014 
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c. 15th August 2015 

d. 26 January 2015 

3. International Day of Yoga, or commonly and unofficially referred to as Yoga Day, is 

celebrated annually on 

a. 7 May 

b. 21 June 

c. 24 July 

d. 21 February 

4. Who was the first RBI Governor 

a. K G Ambegaonkar  

b. Sir Osborne Smith  

c. Sir James Taylor  

d. Sir C D Deshmukh 

5. The IPL 2019 was the _______ Season of IPL. 

a. 11th 

b. 12th 

c. 10th 

d. 9th 


